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[ DSAY SEalH ] 387,520 385.810 1,710
<AHDSEE DSIUDY > 387,520 385.810 1,710
OANUHA SSEEX MBSO YUE 39,600,008 * 13] 39,600
OANSAHAEDY HXE ASE 66.000,0008 * 43| 264,000
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ODNHHAHNY HSFTUHE ASHHE 13,255,008 * 43| 53,020
214 A4 1,980,000 2,351,074 A371,074
214-09 JIELALEI 4] 1,980,000 2,351,074 A371,074
[ DSAY S | 1,980,000 2,351,074 A371,074
<ULDSET WSHHUD > 1,980,000 2,351,074 A371,074
ONEBRIBEY AL+ (FNH234) 1,980,000
OIS AL bl 165,000,008 * 123] 1,980,000
215 A+DE34Y 1,000 1,000 0
21501 I+D2 34 1,000 1,000 0
[ DSAY Sl | 1,000 1,000 0
<ULDSES DSHUD > 1,000 1,000 0
OZADSANLREZ W40 500,0008 * 23] 1,000
216 Ol Xp4- &) 125,660 191,415 65,755
21601 22U 301X+ 121, 160 186,915 65,755
[ DEAY S23 ] 60,000 100,000 ~40,000
<ULDESES DESFUD > 60,000 100,000 £40,000
OBZH 201X+ 60,000,0002 60,000
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-HEE 8X2 04 3,000,000 3,000
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